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01.
02.
03.
04.
05.
06.
07.
08.
09.
10.
11.
12.
13.
14.
15.
16.

71
77
45

214
42
29
72

147
11
50
18
27
40

133

100

158

351

96
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4y [ A00=)

® | 5% 10% 15% 20% 25% 30% 35% 40% 45% o
) (95%) | (90%) | (85%) | (80%) | (75%) | (70%) | (65%) | (60%) | (55%)
10,000 04 06 07 038 09 09 1.0 1.0 1.0 10
5,000 0.6 038 1.0 11 12 13 13 14 14 14
1,000 14 19 23 25 2.7 29 30 31 31 32
500 19 2.7 32 36 3.9 4.1 43 44 44 45
100 44 6.0 71 8.0 8.7 9.2 95 9.8 9.9 10.0
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50 95
+ 100 95 3
1,111 + 2,500
5,456
K2
— | x x 100
E
95 1.96
95
+1% +2% +3% +4Y% +5%
1,99 396
5,95 1,900 475 211 119
10,90 3,600 900 400 225 144
20,80 6,400 1,600 711 400 256
30,70 8,400 2,100 933 525 336
40,60 9,600 2,400 1,067 600 384
50,50 10,000 2,500 1,111 625 400
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